>

SEMI LINE K30-D1S-40/82

A B C

1 K30-0002 | 396 | 570 4/5

2 K30-0003 | 396 | 140 5/5

3 K30-1007 | 820 | 460 1/5

4 K30-1008 | 820 | 460 1/5 \
5 K30-3015 | 367 | 456 1/5 >
6 K30-3016 | 367 | 446 1/5

7 K30-4005 | 367 | 70 1/5

8 K30-4006 | 367 | 70 1/5

9 K30-4007 | 399 | 99 1/5

10 [ k30-9007 | 715 | 387 1/5

2X

4x ey AX \\\@ 4X g(g; 301(/%

160mnt c448||z5x17 mm d1 @7x50 mm e 28x30 mm f1 Me;¢14 o K39\2 o k39\3 y
X @aly) |y
p51 D4x22 mm p60

,‘

©3,5x15 mm

8X@ 1x N

s1 Amm z1 M4x12 mm 145\1

1 /4 P28-K30-D1S_40_82-M_IN14-A-KOR01-TSZTO1 ic



2 /4 P28-K30-D1S_40_82-M_IN14-A-KOR01-TSZTO1.idw



aB3

b32

{: c448
p511—- -
) b6a

b32

P28-K30-D1S_40_82-M_IN14-A-KOR01-TSZTO1.idw

3/4




P28-K30-D1S_40_82-M_IN14-A-KOR01-TSZTO1 ic

4/4



>

K30-D1S-80/82

SEMI LINE

A B

1 K30-0002 | 396 | 570 4/5
2 K30-0018 | 796 | 140 5/5
3 K30-1007 | 820 | 460 1/5
4 K30-1008 | 820 | 460 1/5
5 K30-3019 | 767 | 456 1/5
6 K30-3020 | 767 | 446 1/5
7 K30-4008 | 767 | 70 1/5
8 K30-4009 | 767 | 70 1/5
9 K30-4010 | 799 | 99 1/5
10 [ k30-9008 | 715 | 787 1/5

!

3X 4x T 12x 4X 4x 30x
Q
160mm c448||z5x17 mm d1 @8x30 mm f1 M6/@14x14 mm k39\2 M6/22 mm k39\3 i
8x <(«««(v: 6x u@
@3,5x15 mm p51 @4x22 mm p60
8X 1x | 2X —
S1 4mm Z1 M4x12 mm 145\1 ]45\2

P28-K30-D1S_80_82-M_IN14-A-KOR01-TSZTO1 ic




2 /4 P28-K30-D1S_80_82-M_IN14-A-KOR01-TSZTO1.idw



c448

p60

ad3|(c448

b32
b |

a83]

P28-K30-D1S_80_82-M_IN14-A-KOR01-TSZTO1.idw

3/4



P28-K30-D1S_80_82-M_IN14-A-KOR01-TSZTO1 ic

4/4



>

SEMI LINE K30-DKB-80/82

B C
K30-0002 | 396 | 570 2/3
K30-0005 | 796 | 140 3/3

K30-1011 § 820 | 460 1/3
K30-1012 § 820 | 460 1/3
K30-3019 | 767 | 456 1/3

K30-4010 | 799 | 99 1/3
K30-4012 | 767 | 70 1/3 \

k309010 | 380 | 380 | 173 \ »
K30-9017 | 380 | 380 | 173 @

~ 5 N I
—T= @ |@® @
® | ® xRl
BN W\[

(e} Neoll ENR Kol K60 =N EOH NNH N B-J

e e

12X@

28x30 mm f1

4x

M6/@14x14 mm k3 9\2

4x 15x 2X
k39\3 1 137

M6/22 mm

B @) () e
50x50x23\1,5 n169 @3,5x15 mm p51 @4x22 mm p60 @4x13 mm » p93

14\

8x 1x N 4X 2X

51 4mm Z1 M4x12 mm ]45\1 j45\2

P28-K30-DKB_80_82-M_IN14-A-KOR01-TSZTO01 ic



2 /3 P28-K30-DKB_80_82-M_IN14-A-KOR01-TSZTO1.idw



P28-K30-DKB_80_82-M_IN14-A-KOR01-TSZTO1.idw

3/3



K30-G-40_72-LV_PV-FRN

SEMI LINE

Z

Z

D
2/2

(o3
713 | 396

B
K30-0001

A
1

ro—"/

P28-K30-G_40_72_LV_PV-M_IN14-A-FRN01-TSZT01

1/1




SEMI LINE

K30-G-40/72

A B D

1 ] k30-1001 | 716 [ 300 | 12
2 | k30-1002 | 716 J 300 | 12

3 | k30-3001 | 367 J 280 ] 12

4 | k30-3002 | 367 | 270 | 112

5 | k309001 | 711 [ 377 | 12

N 4

1x f 8x ey AX -
160mnY c448| |57 mm d1 B7x50 mm el j45\2
4x 2X mm@@@@\} 1x N 8x y
26x60 mm p1 27 @4x30 mm p21 @3,5x15 mm p51 @4x22 mm p60 4mm Z1 51 M4x12 mm 145\1

n185\L

d1

1/2

P28-K30-G_40_72-M_IN14-A-KOR02-TSZTO01.ic



4 24,5mm 350mm 24,5mm
_—I_

n185\P

a3d1

P28-K30-G_40_72-M_IN14-A-KOR02-TSZTO1.idw




SEMI LINE K30-G-80_72-LV_PV

A B C D

1 K30-1001 | 716 | 300 1/2 T 1

2 | k30-1002 | 726 | 300 12 .
I

3 | k30-3005 | 767 [ 280 1/2 I

4 | k30-3006 | 767 [ 270 1/2

5 | k30-9003 | 711 [ 777 1/2 I
I

V4

SXQ

2x¢

2X 8x
o i
160mnT c448 d1

@5x17 mm @7x50 mm e1 @8x30 mm f1 j45\2
4X { 2X i N 1X 8X ’
il Q@@(¥) ) =9 <5
@6x60 mm p1 27 D4x30 mm p21 23,5x15 mm p51 @4x22 mm p60 4mm Z1 S1 M4x12 mm j45\1
d1

1 /2 P28-K30-G-80_72-LV_PV-M_IN14-A-KOR02-TSZTO01 ic



f35
4 ~ p127 24,5mm 750mm 24,5mm

Bl et

n185\P

P28-K30-G-80_72-LV_PV-M_IN14-A-KOR02-TSZTO1.idw



SEMI LINE K30-GO-60_36

B Cc D
K30-0012 | 596 | 355 2/2
K30-1005 | 358 | 300 1/2

K30-1006 | 358 | 300 1/2
K30-3007 | 567 | 280 1/2
K30-3003 | 567 | 280 1/2
K30-9004 | 353 | 577 | - 1/2

<8 [0 B I DS B B

8x @ 2X 4x

$8x30 mm f1 $10x50 mm f35 M4x12 mm j45\1

12X 2% =

wsasmn P P127] | g c448| o422 mm péo s1

@6x60 mm

n185\L

1/2 P28-K30-GO_60_36-M_IN14-A-KOR03-TSZT01



P28-K30-GO_60_36-M_IN14-A-KOR03-TSZT01.idw




